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100£972 01p 61 03 64 03 59 03 — — 53 03
10097 02p 51 PM10 51 03 54 03 — — 53 PM10
10097 03 p 70 03 80 03 85 03 — — 73 03
100#97 04 p 85 03 90 03 94 03 — — 85 03
10097 05p 96 03 96 03 112 03 — — 99 03
100£972 06 p 88 03 88 03 106 03 — — 98 03
100£972 07 p 83 03 85 03 93 03 — — 83 03
10097 08p 71 PM10 88 03 92 03 — — 75 PM10
100£972 09p 75 PM10 72 03 88 03 — — 77 03
1009”7 10p 73 03 76 03 102 03 — — 84 03
100#£97% 11p 63 03 60 03 78 03 — — 66 03
100#£9% 12p 62 03 47 PM10 63 03 - - 49 03
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#8 < Lp|xE100#£9 7 2

&R L S
SO2(ppb) 3.5
CO(ppm) 0.75
Os(ppb) 32.7
PMao( 1 g/m?) 65
NOXx(ppb) 16.22
NO(ppb) 2.18
NO(ppb) 14.03
THC(ppm) 3.00
NMHC(ppm) 0.54
CHa(ppm) 2.46
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